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sunlight, seasonal rains and the fertility of the soil. Among these elements
of nature, sunlight was considered indispensable by the ancient Tamils.
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Language — Part II — ENGLISH

Time Allowed : 3.00 Hours ] [ Maximum Marks : 100

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline.

PART -1
Note : (i) Answer all the questions. 14x1=14

(ii) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

Choose the appropriate synonym for the italicised words.
1. The young bird kept calling her mother plaintively :

(a) happily (b) sadly (c) rigorously (d) wvainly

2. Mr. Sanyal stood up with eyes dilated and began to recite a poem by Tagore :
(a) closed (b) moved (c) widened (d) shrinked

3. The doors and drawers were yanked open :
(a) pushed (b) pulled (c) fixed (d) repulsed

4. I forgot all about Mr. Hamel’s ruler and how cranky he was :

(a) unusal (b) familiar (c) unfamiliar (d) strange

5. I had counted on the commotion to get to my desk without being seen :

(a) confusion (b) disturbance (c) unrest (d) calmness

6. We witnessed the bright lights from the sea :
(a) famous (b) superb (c) mnight (d) dull

7. Choose the correct plural form of formula’ from the following :

(a) formulae (b) formulas (c) formii (d) formules
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8. Form a derivative by adding the right suffix to the word fail :
(a) en (b) ure (c) ment (d) ion

9. Choose the correct expansion of the abbreviation “CD”.
(a) Compact Drive (b) Condensed Display

(c) Compact Disc (d) Common Drive

10. Complete the following sentence with the most appropriate phrasal verb given

below.
The mother instructed the maid to the child carefully.
(a) warm up (b) shut down (c) look after (d) take off

11. Choose the suitable option to pair it with the word ‘SUN’ to form a compound word.
(a) thing (b) hole (c) glasses (d) hand

12. Fill in the blank with the most appropriate preposition given below.
Keep the books the table.
(a) on (b) to (c) into (d) with

13. Complete the following sentence using the most appropriate tense form of the
verb given below.

My parents (return) from New York next month.
(a) will return (b) are returning
(c) will have returned (d) will have been returning

14. Choose the most appropriate linker from the given four alternatives.
you work hard, you cannot secure good marks.

(a) when (b) but (c) unless (d) whenever
PART - II
SECTION - 1
Answer any three of the following questions in a sentence or two. 3x2=6

15. What made the young seagull go mad ?

16. What does INSV stand for ?

17. How was Holmes able to look sick ?

18. Which month is called as Magha ?



19.

20.

21.

22.

23.

24.

25.

26.

27.
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SECTION - 2
Read the following sets of poetic lines and answer any three of the following. 3x2=6

My heart will keep the courage of the quest,

And hope the road’s last turn will be the best.

(a) What kind of quest does the poet seek here ?
(b) What is the poet’s hope ?

There’s a family nobody likes to meet;

They live, it is said, on complaining street.

(a) Where does the family live ?

(b) Why do you think the street is named as “complaining street” ?

But we ants never borrow,

We ants never lend

(a) Why do you think ants neither borrow nor lend ?
(b) Who says these lines to whom ?

They, too, aware of sun and air and water,

Are fed by peaceful harvests, by war’s long winter starv’d.
(a) What is common for all of us ?

(b) How are we fed ?

SECTION - 3
Answer any three of the following. 3x2=6
Rewrite the following sentence in other voice :

That portrait was painted by my grandmother.

Rewrite the sentence in Reported Speech.
She asked, “When will you call me ?”

Punctuate the following sentence.
were you not a good student i asked

Combine the following sentence into a simple sentence.
Raghav is sick but he attends the rehearsal.

Rearrange the words in the correct order to make meaningful sentences.
(a) as/I/healthy/are/you/am/as
(b) speaks/Ruben/besides/German/languages/two
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SECTION - 4
Answer the following question. 1x2=2
28. A stranger asks you to direct him to Raja Store. Give instructions to help him.
Raja Store
Book Shop
Main Road
BUS STOP
SBI
X
You
are here
PART - III
SECTION - 1
Answer any two of the following in a paragraph. 2x5=10

29.

30.

31.

32.

33.

34.

35.

Give a detailed account of all thoughts and questions in the narrator’s mind
while accompanying Aditya from the tea shop to Sanyal’s house.

How did Watson help his friend to arrest the criminal ?

Describe the struggles underwent by the young seagull to overcome its fear of
flying.

Give an account of the last day of Mr. Hamel in school.

Answer any two of the following.

SECTION - 2

Compare and contrast the attitude of the ant and the cricket.

What are the positive aspects mentioned in the poem ‘Life’ ?

Read the following stanza and answer the questions given below.

(a)

(c)
(d)

The weather is always too hot or cold;
Summer and winter alike they scold.
Nothing goes right with the folks you meet.
Down on that gloomy complaining street.
Pick out the rhyming words from the given stanza.
Give the rhyme scheme for the given stanza.
Identify the figure of speech employed in the first line of the given stanza.
Pick out the alliterating words in the second line.

2x5=10
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36. Paraphrase the following stanza.
She’s a lioness; don’t mess with her.
She’ll not spare you if you’re a prankster.
Don’t ever try to saw her pride, her self-respect.

She knows how to thaw you, saw you-so beware!

SECTION - 3

37. Answer any one of the following. 1x5=5
Rearrange the following sentences in coherent order.

(i) The mother dropped the small twigs as markers on the way to help her son
return.

(ii) Once in Shining, a cruel ruler declared that all old people must be put to
death.

(iii) Filled with dread, he hid his mother in his home.
(iv) A farmer decided to leave his old mother on top of a mountain.

(v) The son made up his mind to take back his mother home.

38. Read the following passage and answer the questions that follow.

Many years ago, China was in the middle of a great war. The Emperor said
that one man from each Chinese family must leave his family to join the army.
Mulan, a teenage girl who lived in a far away village of China, heard the news
when she was outside, washing clothes. Mulan ran into the house. Her father
was sitting on a chair, carving a piece of wood. “Father!” she said. “Did you hear
what the Emperor says each family must do ?” “Yes,” said her old father, “I heard
about it in town. Well, I may as well go pack up”. He put down his carving, stood
up and walked very slowly to his room.

Questions :

(a) What did the Emperor say ?
(b) Who was Mulan ?

(c) When did she hear the news ?
(d) What was her father doing ?

(e) Where was her father when he heard the news ?

[ Turn over



6821 6

SECTION - 4

Answer any four of the following. 4x5=20

39. Prepare an attractive advertisement using the hints given below.

Mobile Galaxy - Smart phones - accessories - SIM cards - Recharge - Free power
banks on Mobile purchase - No.1, Toll Gate, Trichy.

40. Write a letter to the Editor of a leading newspaper suggesting measures to upgrade
the standard about the bad influence of TV channels.

41. You are the coordinator of the Science forum of your school. An event had been
organized on account of National Science Day for the members of the forum. Now
write a report on the observance of “ National Science Day” at your school.

42, Look at the following picture and express your views on it in a paragraph of five
sentences.




43.

44.

45.

46.

Make notes or write a summary of the following passage.

Our blood consists of three types of blood cells : red blood cells, white blood
cells and platelets. The red blood cells are small, thin and disc shaped. They are
composed of an iron containing component called haemoglobin. When blood passes
through the lungs each haemoglobin molecule picks up four oxygen molecules
and supplies them to the body’s tissues. Red blood cells also transport the carbon-
di-oxide from the tissues to the lungs. The lungs throw out this gas when we
exhale. The white blood cells are big and few compared to red cells, numbering
only one for every 700 red cells. They are body’s defenders, the soldiers that fight
bacteria and other enemies. One kind, for instance destroys dead cells. Other
kinds produce antibodies against viruses. Some others consume and digest
bacteria.

Identify the errors in the following sentences and rewrite them correctly.
(a) Many students has turned up for the seminar.

(b) one of the boys are missing.

(c) I bought an book this morning.

(d) Sreena avoids to eat fruits.

(e) The deer runs fastly.

SECTION - 5

6821

Quote from memory. 1x5=5

We were taken from ......ccoooevvvviiiiiiiiinnnn...

PART - IV

Write a paragraph of about 150 words by developing the following hints. 2x8=16

(a) Uncle Philip - Cunning - living alone - interest collecting stones - death bed
calls - Tom - sole heir - hands over iron box - gems - warns - opening -
dynamite - headache - Tom - reads books - consults technicians - doctors -
priests - salary reduce - afraid tax - failure - donates - human vivisection
centre.

OR

(b) Holland - dikes - lie below sea level - Peter - prevent sea water - walks -
besides the canal - small hole in the dike - put his finger - Holland - drowned
while I am here. The little fellow - and screamed - next morning - a man -
notice Peter - alarm - people mended - brave hero.
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4'7. Read the following paragraph and answer the questions given below.

(a)

(b)

The term ‘Junk food’ means foods that do not do good to the body’s
health in any way. It is less nutritional and harmful to the body systems.
Most of junk foods contain high level of saturated fats, sugar, salt and bad
cholesterol which are toxic to the health. They lack dietary fibres; so, easily
get involved in causing constipation and other digestive disorders. Junk
food has gained so much popularity because of the nice taste and ‘easy to
cook’ method. There are many ready-made junk foods available in the market,
packed in polybags. Most of the people are dependent on such ready-made
foods because of their busy schedule or they do not know to cook food at
home. The consumption of junk food all over the world is increasing day by
day which is not good for the future. People of all age groups like to eat junk
food and they generally choose to eat whenever they enjoy special time with
family like birthday party, marriage anniversary etc. They easily become
used to taking soft drinks. Wafers, Chips, Noodles, Burgers, Pizza, French
fries, Chinese dishes and other varieties of fast food available in the market
fall under the category of junk food.

Questions :
(i What is the meaning of the term “Junk food” ?
(ii) What does junk food contain ?
(iii) When do people prefer junk food ?
(iv) List some of the junk food you like.
OR
Read the following poem and answer the questions given below.
A Bird, came down the walk -
He did not know I saw
He bit an Angel worm in halves
And ate the fellow, raw,
And then, he drank a Dew
From a convenient Grass -
And then hopped sidewise to the wall
To let a Beetle pass -
He glanced with rapid eyes,
That hurried all abroad -
They looked like frightened Beads, I thought,
He stirred his Velvet Head, -
Questions :
(i) What did the poet see ?
(ii) How did the bird eat the worm ?
(iii) Did the bird drink water ? How ?
(iv) What are the eyes compared to ?

-00o0-
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Note :

(2)

Smansg elamssEpnd slwrs FsU uSleundl o areTsT eTearLSamen
sflumiggs Qararerelb. FsHLLSND Gapull@mulbger mms
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93 &CHTyHeusHGL LwWeTL(hss Couamr(hbd. UL BISGET euenFeusnd
QuenFled Liwem(hHSSe,Lb.

Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

@eucllamTSSmeT HIETIE) LGS samer CsmeuT_g.

This question paper contains four parts.

L& - I /PART -1

(i) SmenEZ NaTTESHERSGD ellanL_WeT&se]| . 14x1=14

i) OarGssiuul(erer wrHM el saile Wsab ghymLw el ulmer
CambOs(hdss GO HLer e ulemarnb Caigg er(psey.

(i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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6822

A={a, b, p}, B={2, 3}, C={p, q, 1, s} aafle, n[(AUC) x B] AETG) :

(=) 8 (<) 20 (@) 12 () 16
A={a, b, p}, B={2, 3}, C={p, q, 1, s} then n[(AUC) X B] is :

(a) 8 (b) 20 (c) 12 (d) 16

n(A)=p, n(B)=q eafled A -wle\mHg B -5 daLs@n Wwrss 2 pejsafien
GTevT el SEn G LI TEIT g

(1) 0 (=) 1 (&) 2Pd-1 () 2P4
If n(A)=p, n(B)=q, then the total number of relations that exist from A to B is

(a) O b) 1 (c) 2rpa—1 (d) 2prd

F, =1, F,=3 womidb F,=F,_; +F,_, erens Qar(h&sliigen, Fs oeng) :
(1) 3 (<) 5 (&) 8 () 11
Given F; =1, F,=3 and F =F_,_;+F_ _, then, Fg is :

(a) 3 b) 5 (c) 8 d 11

t, ty, ty e eTeTIgl (M Fal (NS Csmim eufleng erefled tg, ti,, tig, ... GTGUTLIG) :
<3) @@ dumsES s suflans

%) @@ BLOS Agri aiflens

@) @m &mLOS A eufleswea®, UmE@ES QST euflangu|waen

—_~ o~ o~ o~

) e LIMedlsd Qgriim auflens

If the sequence t;, t,, t3 ...... are in A.P., then the sequence tg, ti,, t;g, ...... is :
(a) a Geometric Progression

(b) an Arithmetic Progression

(c) mneither an Arithmetic Progression nor a Geometric Progression

(d) a constant sequence



21y° — 42y + 21
3y3

(&)

3y-3_ Ty—7 ;
y 3y

S

9
@ =

21y° — 42y + 21
(c) 3
3y

3 6822

3

(é%)(Qly——Ql)

7(y% - 2y + 1)

(rF)
y2
3
(b) L
2ly — 21)
7(y2 - 2 1
) (y y2y+ )

(T @MUl FLOGTLIML 1q 6T GUETLIL LD 6(Th
(=) CrraCam( (<) eulLLD (@) ureuepeTwid  (FF) SFlUreueeTILDd

Graph of a Quadratic equation is a

(a) straight line (b) circle (c) parabola (d) hyperbola
AB _BC (afié, AABC wpmi AEDF «i@ Qeurs
DE > & @, LD MI LD erlllumupgl ellgbleaIrggemaelwins
Si®WWLD ?
(=) B=[E (<) |A =D (®) B=D (FF) |A=IF
If in triangles ABC and EDF EZB—Cth th ill be simil hen :
in triangles an » DE _ pp then they will be similar, when :
(a) [B=[E (b) [A=[D (c) [B=[D (d [A=[F

[ Hliys / Turn over
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8. alLgdler AesrHCasrhibd iser TIph CebEGsSsTs Db @LID :

(1) emwwid (<) AarhHueret

() epyaiad (FF)  mmasr

A tangent of a circle is perpendicular to the radius at the :
(a) centre (b) point of contact
(c) infinity (d) chord

9. X555 CemEsss 2 drer CrreEGamiqer Fmie]

(1) 1 (=)0 (@) = (FF) =1
The slope of the straight line perpendicular to x-axis is :
(a) 1 (b) O (c) oo (d -1

10. sin6=cosb erafled 2tan?0 +sin?6—1 -er H LI :

3 -3 2 -2
(=) 5 (=) 5 (@) 3 (") —
If sinf =cosh, then the value of 2tan20+sin26—1 is :

3 A 2 q =2
@ 3 b © 3 @ =

11. b 5 Qe wHmb sTywrbd 13 & 2 eLw Crieul Lé miblber 2 wpb :

(=1) 12 Q&8 (<) 10 Q&5 (@) 13 Q&8 (FF) 5 Q&.15

The height of a right circular cone whose radius is 5 cm and slant height is 13 cm
will be :

(a) 12 cm (b) 10 cm (c) 13 cm (d) Scm

12. swwrer LD LOHMDL 2 WFD 2L @F 2 (H6T, @@ FabL HMWD 6
CamarsSlen sear jeme setlen eNSlsLbd :
(o) 1:2:3 (=4)2:1:3 (@) 1:3:2 () 3:1:2

The ratio of the volumes of a cylinder, a cone and a sphere, if each has the same
diameter and same height is :

(a) 1:2:3 (b) 2:1:3 (¢ 1:3:2 (d 3:1:2



13.

14.

G@OMUALL sreyls Letaflsafler sa(hise womib srmefl < dlwemel wpenmGul 407 wHmid
11 erafled, gre|lt Leteflsatier cranrenfléanswimeng,) :
(1) 37 (<) 4477 (@) 396 () 418

If the sum and mean of a data are 407 and 11 respectively, then the number of
observations in the data are :

(a) 37 (b) 4477 (c) 396 (d) 418

QY mIFlQ eT(PS5SHSHET {a, b, ..... , 2} -(BHg @ (P& FweumiiL (penpuiler Cxrey
Qeuiwliiu®dng. ABS TPSSH x -5 WPHMSW T(PSHHaled Q@ReTmrs
@muusnarer Hapsse] :

12 1 23 3
(=) 13 (=) 73 (@) 55 (") ¢
If a letter is chosen at random from the English alphabets {a, b, ..... , z}, then the
probability that the letter chosen precedes x :
12 o L 23 ]
@) 13 b 13 © % ) %

U@3! - II / PART - II

GO : sTemeuCGuiegnid 10 alemssEnsE el wealldseyn. elearm orar 28 -&@
SLLmuwrg eleL weilsse|n. 10x2=20

Note : Answer any 10 questions. Question No. 28 is compulsory.

15.

16.

17.

BxA={(-2, 3), (-2, 4), (0, 3), (0, 4), (3, 3), (3, 4)} erertleb A HMILD B <y Flwieihenms
SITE00TS.

If BxA={—2, 3), (-2, 4), (0, 3), (0, 4), (3, 3), (3, 4)! find A and B.

fof (k) =5, flk)=2k—1 ererfled, k -6 OSILIDLIE STEwoTss.
Find k if fof(k)=5 where f(k)=2k—1.

x+6, x+12 womibd x+ 15 eraruer ¢ QUMSES CsmLrm cuflenguiler Qg mL_r&dlwimer
eLpeTm 2 MILIL|SET 6T6Tley, x -607 SLIEHLIS STeuTs.
Find x so that x+6, x+ 12 and x+ 15 are consecutive terms of a Geometric

Progression.

[ Hmiiys / Turn
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x + 2 . X2 —-x—-6
4y 12y2

18. H(HEGS :

+2 x> -x-6
Simplify : x4y s X 12;;2

19. Memeumd @) (HUIGEF FOGTUML g 60T PLPEBIGZETE SETENLDENIIS &HTEuTs.
2x2—x—1=0
Determine the nature of roots for the following quadratic equation.

2x?—x—1=0

20. UL gdle AD eremig ZBAC -uflenm @man6eutiqwim@Lb.
AB=10 Q.8
AC=14 Q&..5 wHmLd

BC=6 Q&8 erafle, BD wpmitb DC-06 smews.

6 Q&.18

In the figure AD is the bisector of ZBAC, if AB=10 cm, AC=14 cm and BC=6 cm.
Find BD and DC.




21.

22.

23.

24.

25.

26.

QR L& Xy SeTH5Hle0 (—6, —4) erem Ljeratlufled 2 emerg). (5, 11) erarm LaTefludley
@@ UTed Ly epeudsliLl(heTerngl. Lener W&s Gndw gmyn uwailsgin Lme
QMBS NmbySng crafle, urml LUHEGUSHEGS Csmeuwmer Limansuder

FLOGTUTL_HL_& &HTEHTs.

A cat is located at the point (—6, —4) in xy plane. A bottle of milk is kept at
(5, 11). The cat wishes to consume the milk travelling through shortest possible

distance. Find the equation of the path it needs to take the milk.

12y=— (P+3)x+12, 12x—7y=16 <yl CrrsCarhser gamstsmamn Camb@ss
cTafled, P -ullerm dllienlis smeurs.

If the straight lines 12y=—(P+3)x+ 12, 12x—7y=16 are perpendicular then
find P’.

sec sin®
— — = cotl creTLIEn 9 &sH6eLD.
sinod cosb & ‘ﬁ G e

seco sin®
Prove that -

- = cot0 .
sinf coso

fgsrenend Qaranr(® 7 LS <prapid, 24 15 2 WippLd 2 LW 6(1F FalbL| GUig6Ud Fnl ML
2 HeurssLILOSDg. QFaieus auges dssrafler g 4 B creafléd, iger Barid
SITE00TS.

The radius of a conical tent is 7 m and height is 24 m. Calculate the length of the
canvas used to make the tent if the width of the rectangular canvas is 4 m.

@m Camarhisafler <y rmiser alldlsd 4 : 7 erafléy Sjeundler sar sereyseaflen aldlgn
STEHTS.

If the ratio of radii of two spheres is 4 : 7, find the ratio of their volumes.

Qar@ssiul L eyl earals@néE eids wpmib 6iFss Q&(paneud Srams.
63, 89, 98, 125, 79, 108, 117, 68
Find the range and co-efficient of range of the following data.

63, 89, 98, 125, 79, 108, 117, 68

6822
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27. A wpmib B @8l @@ elarenriiugmyrger IIT -uler Cameusnanss srésmLiLeumaer.
@arsafler A CapdshsslLheugnstar Hlaspssea) 0.5. A LHMLD B @ @meumd
Camplshssliu(eugnsrear Hlaspssea| 0.3 aald, B Camblshésiiubeusnamer
9Slsuls Hlapsse) 0.8 erar Hlapllssa]b.

A and B are two candidates seeking admission to IIT. The probability that A
getting selected is 0.5 and the probability that both A and B getting selected is
0.3. Prove that probability of B being selected is at the most 0.8.

28. p?xqlxr*xs3=3,15,000 erenmeumm Sienowb erasflled p, q, r LOMID s p&lweubdler
DSHLILEENETS HTErs.

If p2xql xr*xs3=3,15,000 then find p, q, r and s.

U@l - II / PART - III

@MUY : eTemeuCuenid 10 alamésEpsE ellanLwalldsab. afarm eram 42 -5
SL_LMuwns 6l wel&Esa|b. 10x5=50

Note : Answer any 10 questions. Question No. 42 is compulsory.

29. f: A > B eaem grrunengl f(x) = g —1, Tar aurUMSSUILUOS DS . @QnE

A={2, 4,6, 10, 12}, B={0, 1, 2, 4, 5, 9} &6 Q&@Ew Cung smry f - Meme(mLd
wpensailed @GN&EsHaLD.

(i) eufleng Camggatler seawrid (il)) il Leuenemr
(iii) DLYEGMH UL LD (iv) euenyuLLD
Let f: A — B be a function defined by f(x) = g — 1, where A={2, 4, 6, 10, 12},

B={0, 1, 2, 4, 5, 9} Represent f by :
(i) set of ordered pairs (ii) a table

(iii) an arrow diagram (iv) a graph



30.

31.

32.

33.

R Asmalgider ai(sEEsE 1 WPsd 49 auany QsrLidwunss sseloésbd
aupmisliul (Garerg. Qepdlallear eSlghE earargnrs o drar  ei(Bsaflen
sgeilwssngafler gml (Hé Qgrerswmang Capdalear ail @l Gaarsns o ¢rer
i safler sgellawssngailar aml (DS sranssEs swbd aaild QFpdHaler eIl (H

&SN VEEENSE SHTEHTS.

The houses of a street are numbered from 1 to 49. Senthil’s house is numbered

such that the sum of numbers of the houses prior to Senthil’s house is equal to
the sum of numbers of the houses following Senthil’s house. Find Senthil’s
house number.

5+55+555+..... ereom Qgm_ireuflensullen (pse n o mililsefler s(hFe srems.

Find the sum to n terms of the series 5+55+555+.....

ae;@ésa;rr@um eperm WwrPlseey Samwpbs @musmn Crflud sgwearurl (Hs
QarElysemer $i&s.

3y
x+20=?+1022z+5=110—(y+z)

Solve the following system of linear equations in three variables.

3
x+2o=?y +10=22+5=110—(y+2)

1 7
S 2 9 . . . .. .
A= (1 5 8)’ B=|1 2 | earafl® (AB)T=BTAT erenuiengd gflunigseyLb.
-1
7
529 - T_RTAT
If A= L 2 8l B=|1 2 | verify that (AB)'=B"A

6822
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34.

35.

36.

37.

38.

10

P BT @enGeuafludiey ‘@’ L whmid b’ LT e wiyipeter Qe Sneraer
o gremen. gnawmsetenr 2 FSuledl(mpbgl rHCruerer gramgeflen ojq&E euenFwlLI(HLD
ab
a+b

Car(ser shHla@n Laraflufen o wirnmeng BLL eretueng HlemL9&sa]Lb.

Two poles of height ‘@’ metres and ‘b’ metres are P’ metres apart. Prove that the

height of the point of intersection of the lines joining the top of each pole to the

ab
foot of the opposite pole is given by “+b metres.

Carenr @ mawbeul’ly Cahmsens er(pdl Hleplissea]b.

State and prove Angle Bisector theorem.

(8, 6) (5, 11) (=5, 12) LMD (-4, 3) YFHw YeTallgemer (peveanserms ©lsmeur
BIHSFSE 6T LITLILS STams.

Find the area of the quadrilateral formed by points (8, 6) (5, 11) (=5, 12) and
(_4’ 3)

7x—3y=—-12, 2y=x+3 Fwu CprsCarhsedr shde@n Yerall culfl CFeugd
X-21585@ @Qevewminargione ChisCaT g6 FETITL L& &Ters.

Find the equation of a straight line parallel to X-axis and passing through the
point of intersection of the lines 7x—3y=—12 and 2y=x+3.

Q@@ somsmy alarssgdlen 2 FSulalmbg THOATST LSsBIGaTD 2 drer @) e
sLUes6T 30° LHMID 60° QM&EEsS Caramgdled LTTESULOSGTDHET. SOBIGT
eersasHler o wirb h 5. @@ sLiLO&SET WHMID SomismT cllardasden <igliLGd
g Flwmel Cr CrrsCariind mwdlamar cafled, @Qramh &LULOSEHSS

Qe it L Cgmenavey % . erear Blemiigsey .

From the top of a lighthouse, the angle of depression of two ships on the opposite
sides of it are observed to be 30° and 60°. If the height of the lighthouse is ‘h’
metres and the line joining the ships passes through the foot of the lighthouse,

show that the distance between the ships is 4h m.

J3



39.

40.

41.

42.

11 6822
@ 2 (Henemudlerr < prd WHMID o WFkiseTen alFsd 5 1 7 GWD. D6 euaaTUrLiL|
5500 &.Q&..5 crarfled, 2 (Hamemudler <y LOHMID 2 WFLD STewTs.

The radius and height of a cylinder are in the ratio 5 : 7 and its curved surface

area is 5500 sq.cm. Find its radius and height.

S(HeT Fengl GHbu ellpralH@ 150 BUTSET ShIGeUSNE @ Fnl D &S M.
FaLmrgdlen 2jiqliu@GS 2 menem aulgeilgd CopuEd bl aligeigin 2 @Terg).
QRHeUT ShIGeuUgN@ 4 &.0 Siglingd urliyb 40 5.5 smhmb CasameuliLBEng.
gL mgdled o (menemufle 2wy 8 W erafleh gnlbller 2 WD SHrenTs.

Arul has to make arrangements for the accommodation of 150 persons for his
family function. For this purpose, he plans to build a tent which is in the shape of
cylinder surmounted by a cone. Each person requires 4 sq.m. of the space on
ground and 40 cu. meter of air to breathe. Find the height of the conical part of

the tent if the height of cylindrical part is 8 m.

@y Frrer LsmLsET (Wpapwins Gy Crrsdd 2 mLLiu(lemer.
(i) @rar® usmLsaiaibd aCrips wHliL daL&s

(ii) s wIHlyseter QUMESHUOET LIST cTamaums SHlenl_&s

(iii) @& wIHliLgellen (P LIST cTaTentTs: Flanl &5

(iv) s wdlyseaier (s 1 -Us Q) (HES

< Flw Blspsslsaien HlEDSE0|EMETE STeUTs.

Two unbiased dice are rolled once. Find the probability of getting :

(i) a doublet (equal numbers on both dice)

(ii) the product as a prime number

(iii) the sum as a prime number

(iv) the sum as 1

A={xcW/x<3},B={xeN/1<x=<5} wpmid C={3, 5, 7} eTafled A x (BUC) = (A xB)U(A x C)
cTerLeng SMLUTT&ES6,LD.

Let A={xeW/x< 3}, B={xeN/1<x=<5} and C={3, 5, 7} verify that
Ax(BUC)=(AxB)U(AXC).

[ Hliys / Turn over
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GO : Semensg cHaméss@ErsEh elenwaildsab.
Note :

43.

44.

12

U@sl - IV / PART - IV

Answer all the questions.

(=) 4 Q. Yreperer el L cauarbgl, Sgem ewwsHalmbg 11 G&.15
Qareveveilgerer g Yetaflanwd @&Msg, iliyeralulelmbg Ul LsHDE
@ranr() QsTHCsTHSET UM

S|6060F)

(=) Sigliugsd BC=8 Q.5 ZA=60° wHmbd LA -ar @@k Fwbeilqurearg
BC - D erem yerafluiles BD=6 Q&.15 erarmeurm 685 mg erafle,
Wp&ECaHTaTd ABC auenis.

(a) Take a point which is 11 cm away from the centre of a circle of radius 4 cm

and draw two tangents to the circle from that point.

OR

(b) Draw a triangle ABC of base BC=8 cm, ZA=60° and the bisector of ZA meets
BC at D such that BD=6 cm.

(=) euradlar GeusuCGalm SjeTe sefled 6 aUL L BISMET UTHSTET. L L euenenrudled
2 arereumm), eelbeumm aul L gdler el L SSnEWn, gem sHmeTelhEh o 6rer
Carrrwg CAgsrmys@ @@ euamrULLD aleTe|b. gmer Lwearlhss
el Liorerg 6 QF. s @@m&EEn Cung el Lgdler &hHperanelsd ETarms.

ML LD (x) Q&.18 1 2 3 4 5
shperal (y) Qe8| 3.1 | 6.2 | 9.3 | 124 | 155
NNV

(=) y=x2—5x—6 -&f uFLILD eueihgl, Amar LweL(hidd x2—5x—14=0
GTeITD FOETUMT ML STdHaLb.
(a) Varshika drew 6 circles with different sizes. Draw a graph for the relationship

between the diameter and circumference (approximately related) of each
circle as shown in the table and use it to find the circumference of a circle
when its diameter is 6 cm.

Diameter (x) cm 1 2 3 4 S
Circumference (y) cm | 3.1 6.2 9.3 12.4 | 15.5

OR
(b) Draw the graph of y=x%—5x—6 and hence solve x2—5x—14=0.

-00o0-

2x8=16
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SNeyenraseT : (1) Adarsg clamss@pbd slwurg Fal uSeurd o draTST GraTLIS e
sflumiggs Qararereb. FsHLLSND Gapull@muger mms
sarsrenflliumerfid o L arguwing Cgsfelsseab.

(2) Beod Svevg SHLILY ewullener er(pgieusH@GL 2ii4&Camy(HeusnELw
Lwem(hss Celarr(Hbd. LLBISET euanyeugn@ Cuemdled Liwiemi(hgsey L.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

@Ml : GeusllammsgreT BNesIE LGSHsmend Camamg.

Note : This question paper contains four parts.

U@3) - I/ PART - I

GOl : (i) oesg alamss@rs@n el waldsa. 12x1=12
(ii) Qar@&slul(Heter Brem@ el sailed WEa|b gL w alenLudaner
Carbosbhds GNULGLar elaLulmernybd Cardg erpseLb.

Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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1. @&l Qeverdler o (BUCLMSSLIE rliGUmgLD S UL EnL ).
CORCILICT
(<) réli&@
(@) Cpisghl <dwg adissH
() &
Magnification of a convex lens is always :
(a) Positive
(b) Negative

(c) Either positive (or) negative

(d) Zero

2. Spssanl orhg ellaarnuie Gai o ' smellar Hlem crawanfled Bremn@ Gempuld ?
(1) « angay (<) B Slovgay

(@) v flenzey (FF) Bl gres Slengey

In which of the following reaction, the mass number decreases by four of the

daughter nucleus ?
(a) o decay (b) P decay

(c) v decay (d) neutron decay

3. fiflew SHymbd epovsamm Hlenm

(1) 2 8 (<) 16 & (@) 18 & (/r) 8 4l
The gram molecular mass of water is :

(a) 2¢g (b) 16g (c) 18¢g (d) 8¢g



3 6829
EDESETL_cUDMIET 6T FTeusbsenrLILITem ?
(<=1) S _CLme (<) Quen&er
(&) b () <pevsammed
Which of the following is the universal solvent ?

(a) Acetone (b) Benzene

(c) Water (d) Alcohol

IUPAC Quuf@®geleruly 2dgmanhssns CarssiuBin @rearLmb blepe
erGerm_(h

(1) < (<) u9é ibleowd

(&) e () g

The secondary suffix used in [IUPAC nomenclature of an aldehyde is

(a) -ol (b) -oic acid

(c) -al (d) -one

@ meurpeilgefien @)suwibd S|ODEET CSTeTL ).

(=) 3 (<) 4 @) 2 (%) 5
The heart of amphibians possess chambers.

(a) 3 (b) 4 () 2 (d 5

[ Hplys / Turn over
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7.

Syl spmné @& L CumSng.
(1) usmRIGailaD

(<=,) el GLramer_fluwmedler o L galplold

(&) UpgGamed giamer

(FF) el CLmsmenr_Mwureler o L Lng Feuay
Kreb’s cycle takes place in

(a) chloroplast

(b) mitochondrial matrix

(c) stomata

(d) inner mitochondrial membrane

@ (pever BlLTmenger srarTlLmn @)L b

(<=1) sar eflifisdleany (=) u@epeers ynan
(&) euar &m (r) seung er9adlwid
Bipolar neurons are found in :

(a) retina of eye (b) cerebral cortex

(c) embryo (d) respiratory epithelium

faGaLiluflerr alleneToumed 2 (Heumelg)

() GevGumiaer (<) Qarefliqum

(@) ewaGami (FF)  SlermOGLmevGumiaer
Syngamy results in the formation of

(a) zoospores (b) conidia

(c) zygote (d) chlamydospores
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10. Qummsss

11.

(1)
(2)
(3)

(4)

gmi&Gamom (i) Fstiugqurer L

& Germinm (i) SsLiLgquTer SrsLD
Limedlig Lidlwim (iii) @evewrliysdla LHmCHTU
Ll Gugglum (iv) euuddm ybmCrmil

(=1) (1)-(ii), (2)-@v), (3)-(id), (4)-()

(<) (1)-(v), (2)-(ii), (3)-(1), (4)-(ii)
(&) (1)-0), (2)-(i), (3)-(iv), (4)-(ii)
(/) (1)-Gv), (2)-(), (3)-(), (4)-(iii)

Match the following :

(1)
(2)
(3)
(4)
(a)
(b)
(c)
(d)

Sarcoma (i) Excessive hunger
Carcinoma (ii)) Excessive thirst
Polydipsia (iii) Connective tissue cancer
Polyphagia (iv) Stomach cancer

(1)-(iii), (2)-(iv), (3)-(i), (4)-(1)
(1)-(iv), (2)-(ii), (3)-(1), (4)-(ii)
(1)-(), (2)-(ii), (3)-(v), (4)-(ii)
(1)-@v), (2)-(1), (3)-(i1), (4)-(iii)

b Hlapsslufen srreorons 9 : 3 : 3 : 1 o (Heundlmg) ?

(=) dlge (<) 6G0ECs S5O
(&) srmlendl @gibiGseD () @OBE s
9:3:3:1ratiois due to :

(a) Segregation (b) Crossing over
(c) Independent assortment (d) Recessiveness

[ Hplys / Turn over
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12. el Ly Qe greuralle eraaid Clamene (pserm (Psedled DipsLILIHSGH w6
(<=1) Qamymeotm (<) J.W. anmriev6l LT

(&) Qpmermed(H Fmav (FF) ablyCamr 4 adlflen

The term Ethnobotany was coined by :
(a) Khorana (b) J.W. Harshberger

(c) Ronald Ross (d) Hugo de Vries

L@ - 11 / PART - II

@MY : eTemeuCuienid e alaTTds@hd@ ellenwalldsab. ellearm erapr 22 -5

sL_Lmuwns olen_weflése]h. 7x2=14
Note : Answer any seven questions. Question No. 22 is Compulsory.
13. fleneold — UEATWMIEGSHE|D. DSET CUMSSHET WITenal ?

Define inertia. Give its classification.

14. curand get fev Hlpwrss Corarmdma ?

Why does the sky appear blue in colour ?

15. e sCamfl — euenrumI&GseaLD.

Define one Calorie.

16. <eusr Crr aflduder LwearUT(hiseaie CHEILD @) TeuTiq aned: Fnmis.

Mention any two applications of Avogadro’s Law.



17.

18.

19.

20.

21.

22.

7 6829

SLenL ullé sranrlithibd Ll (hewrentl SHEUMDLILISEMET 6T(LPSIS.

List out the parasitic adaptations in leech.

epeneaTenWL] LITGISTLILITS epeudd(h&s 2 S b o mUILGET wremel ?

What are the structures involved in the protection of brain ?

Qarhsslul(herer LLSHe A, B, C womidb D <l UTSBISEMET ienL_WTeTLD

HTETELD.

Identify the parts A, B, C and D in the given figure.

oryt Gurhuiwed — euenFLmISSaLD.

Define genetic engineering.

eavlieny_(h (SPRITE) 6rasimmed crestent ?

What is Sprite ?

2 4.8l Hlenmaupeyenwi e sSMwsEsEI QUTmeTTaTgl iemissH[ QeanameilearGLimg
Qeuatlud(Hid Qorss D DHDMS SerTeES (Hs.

Calculate the amount of energy released when a radioactive substance undergoes
fusion and results in a mass defect of 2 kg.

[ Hplys / Turn over
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U@ - I / PART - III

@MY : aTemeuCGuenid e alamssEers@ e wallEsa|b. elarm aeam 32 -&d

SL_LMuwns 6l wel&sa|b. 7x4=28
Note : Answer any seven questions. Question No. 32 is Compulsory.
23. aflenguller swemumlenl Bl L afler @rewrLmbd gl epad Hmed.

Deduce the equation of force using Newton’s Second Law of Motion.

24. Sl durienel wHmib grrliurrenel @Geapurhsener GCeumiLi(hssis.

Differentiate the eye defects : Myopia and Hypermetropia.

25. () BEwmedl dieynised erammmed eTemesr ?
(<=4) @bl erdlArmellssa erarmmey cTevmer ?
(a) What do you understand by the term Ultrasonic Vibration ?

(b) What is meant by reflection of sound ?

26. () @QTFSHOEN6 GTRTDTE) TeTaT ? T(HSHISHTL(H H(HsS.

(=) smilrsdlen gCoseId @ TenT(h LWGTLT(HSEET Fnmis.
(a) What is an amalgam ? Give an example.

(b) Mention any two uses of copper.

27. Gemluder gnienbwTésd (panneil e96TdEs.

Explain the mechanism of cleansing action of soap.



28.

29.

30.

31.

32.

9 6829

(=) LWL STaUrmiGae® sTaTlU(L PN eUMSWTr S&s5 gm@lysamer
GINTICE:S

(=) @allFCarsamasamw LTHEGL srrailser wrenel ?

(a) Name the three basic tissue systems in a flowering plant.

(b) What are the factors affecting photosynthesis ?

@ rsss5Hen Lientlsamers L iquisd(Hs.

Enumerate the functions of blood.

papfi Cellliy Smwliysar qaaurm Hossy BT wlLsmgs dsflsass

C&Fwidlermerr ?

How do rainwater harvesting structures recharge ground water ?

(=1) SCGamenL_y, sfCammant1 upml Bl ydleug) ereer ?
(<)) H10CTCFTOSET GTERTMTED GTEITET ?

(a) What do you understand by the term phenotype and genotype ?

(b) What are allosomes ?

(=) 0.01 M HNO, saniygeilenr pH WwSlliL| srems.

(<) 100 &. Bfle 25 4. sTGsmrWE SIS @ Forsed swrlssliLGSng.
9iger Henrblummetlen Hlenm &g,@ﬁg,gmg,é; FHITCITS.

(a) Calculate the pH of 0.01 M solution of HNO,.

(b) A solution is prepared by dissolving 25 g sugar in 100 g of water. Calculate
the mass percentage of solute.

[ Hplys / Turn over
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u@sl - IV / PART - IV
G : Semensg clamssErsEh elawealdse b. Cameuwmear @)L nhigafled LiL LD
QU TWQLD. 3x7=21
Note : Answer all the questions. Draw diagrams wherever necessary.
33. (=) (i) 09 Ceuliu a9 — cuaTLNEGSHE|LD.
(i) Hls&se womb GErmlwib sobhs 2 Gorsssoamal Warsmy GeuliLGHmib
ETSEIONG LLaTUhSSUILI(HNeUG 66 ?
(iil) e W6 2 (/G e eTeuaumm W6 FTHRTBIGMET LITHISTSS DS ?
S|606VF)
(=) (i) GBLLane eTermmed ereoer ?
(ii) SSSHIH 2D GTETDITE GTemen ? AFHe @QemHIEOWITS Limsnigeflen
Qeweur@aamer eleuflésalb.
(a) (i) State Joule’s Law of Heating.
(i) An alloy of nickel and chromium is used as the heating element.
Why ?
(iii)) How does a fuse wire protect electrical appliances ?
OR
(b) (i) What is a longitudinal wave ?

(ii) What is a nuclear reactor ? Explain its essential parts with their
functions.

34. () (i) AESL(H eTewT — GUMTILIMIGSHELD.
(ii) H,SO, -é 2 dter gevuiflen geis @QewiGamens Eramms.
(iii) FFOLD 2 MHlEh&D CaMbBISER&SELW, FID 2 NEpdls Senrubd CaTokIgEhsE LW
e Cuiwimer Geumum(hger wrenael ?
S|6060F)
(<) (i) Ber wHmbd et ellemergamer Coumu(HSgIs.
(i) pOHBlMOWTEsSD elenar crammed ereer ? THSHEHTL(H S(Hs.
(iii) ugeuflens Gambriseier gGHEID FPETN LIGHTLSMETE Fnmis.
(a) (i) Define : Atomicity.
(ii) Calculate the percentage of sulphur in H,SO,.
(iii) In what way hygroscopic substances differ from deliquescent substances.
OR
(b) (i) Differentiate reversible and irreversible reaction.

(ii) What is neutralization reaction ? Give an example.
(iii) Give any three characteristics of homologous series.



35.

(=1) ()

(i)

(iii)

(<=1) ()

(a)

(b)

(i)

(iii)

(1)

(i)

(iii)

(id)

(iii)
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s&smailule smeynrs seatlanwis gremHn apmrGreT ergl ?
@gTTlH anriGrer e < @haid anTiGTeT eTarm <enp&HsL-
LG &lermgl ?
eorwrisdler ufleamosg Carlurhasamer allerd@s.

S|6VEVG)
% QBT 1g.erem.er. -enau GDHILIGL L @)L Bisefled Ceul L1 Lwerhdmg ?
amodler AOCaT bl CQehbs @ram@h wasETECFTET SevLliLudlf
cuassamen LW 6T(Lpgis.
Liens 9145606 <,LSgEeT LHMD Lensulaeuder Sw elanereysar LD
clesGs.
Which hormone induces parthenocarpy in tomatoes ?
Why is thyroid hormone referred as ‘personality hormone’ ?
Explain Lamarck’s theories of evolution.

OR

Which enzyme cuts DNA at specific sites ?

Name two maize hybrids rich in amino-acid, lysine.

Explain smoking hazards and the harmful effects of tobacco.

-00o0-
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Part - III
Fops nlellwey / SOCIAL SCIENCE

(sWIp wHMID Ymidle eudl / Tamil & English Version)

& emey : 3.00 wewfl CrL ] [ Qrgs wHlibluearger : 100
Time Allowed : 3.00 Hours | [ Maximum Marks : 100
SMlejenraer : (1) Simeandg alenTéEgEhd FHlms NFH Leundl 2 eTeTsT 6TeiSemne

sflunTsg s Qamerera|bd. FsULSelled Gapur®h @ @Uber
S|emws sevrsrentliurerflb o L anquirss Ostlelssey.
(2) Beod deg &SMUY abulamear WLHGCWL e geusnHELD
34 5CaMg (Heusn@GL LweTl(hss CoueamT(hibd. LILBISET UamFeUSN S,
Quendler LwerL(HEE Ceuar(Hib.
Instructions : (1) Check the question paper for fairness of printing. If there is any
lack of fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

SO : Geuallamsgrer BresIE LGS smends Camaimg.

Note : This question paper contains four Parts.

L& - 1/ PART - I
@O : () oS lamssErs@n el weflése,b. 14x1=14
(i) QasrhssiulL wrom el safled Wsea|b ghymw alanLullener
Camboshsgs ML HLer el ulameanb Carsg er(pseb.
Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

[ Hplys / Turn over
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1.

2 agdlen THSL LGF Lreom Srflwe gardlussuigams ellmbueiidvamen ?

(=) eCrmiaum (<) @Qavddern CM&ST
(&) Qbgluwm () Eaorm

Which part of the world disliked Dollar Imperialism ?

(a) Europe (b) Latin America

(c) India (d) China

Sammelled &SET rflwed sbBSTLe| IHTH riGurg BaLCuHDg ?

(<) Galbui 1959 (<) QglLbum 1949
(@) CeliLbur 1954 (FF) QElLLburm 1944
When was People’s Political Consultative Conference held in China ?
(a) September 1959 (b) September 1949
(c) September 1954 (d) September 1944

Spsdlbdw snbuaiuder BrHysE Amsmu THTSFH BlaTn (PSE LITEnETUIS-
SITTT W ?

(=) g sCasTFFTHET (<=,) Yeil5Cxeurm

(@) Ceugymmaslwm () eSyumerigw s L GQumibLoer

Who was the first Palayakkarars to resist the East India Company’s Policy of
territorial aggrandizement ?

(a) Marudhu brothers (b) Puli Thevar

(c) Velunachiyar (d) Veerapandya Kattabomman

@ndu Csslw srmdlrfler eThs LTl RSFHIMPUTMLL QUISSSSSES Ao
GULPMRIGLILIL L &) ?
(1) bMWY (<) WsTTEL (@) soss55T (FF) BE&LLT

In which session of Indian National Congress was Non-cooperation Movement
approved ?

(a) Bombay (bp) Madras (c) Calcutta (d) Nagpur
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Lenerm_(h& FmSD 2 (Heurssliuhieudle (paripwind) er(hd eurm wimm ?

(=) emevGleuevL (<=y,) CabLimed e

(@) =L Cpm allévaes (FF)  wmev(helle

Who initiated the formation of League of Nations ?

(a) Roosevelt (b) Chamberlain

(c) Woodrow Wilson (d) Baldwin

D pSTens Hlessil STTLET jeTenel Clsmer(heTerg.
(1) 80% - 95% (=) 70% -5@& Goed
(@) 60% - 70% (FF) 50% -&@L Gemey
The Anthracite coal has of carbon.

(a) 80 to 95% (b) Above 70%

(c) 60 to 70% (d) Below 50%

SLOIPBTLIg 60 2 6Tem L8l& 2 wiFlnrer Sy

(SN) g emen(ply (<) QemLQuiiim
(@) wGsnIHrdM (rF) CGareurymue
The highest peak in Tamil Nadu is

(a) Anaimudi (b) Doddabetta

(c) Mahendragiri (d) Servarayan

sOIpBTLigeleTer Guflu wHmib HPlw giemppsnigeien ereamreantsams
(=) 3 womid 15 (=) 4 woOmbL 16 (@) 3 wHmb 16 (FF) 4 wWOHMID 15
Number of major and minor ports in Tamil Nadu.

(a) 3 and 15 (b) 4 and 16 (c) 3 and 16 (d) 4 and 15

LIGHLOW GUEHTL 6 Lllge&Hemmed 2 (heumem FLoblauef

(=) wmum (<) Srmu (@) urmism (FF) &msm
plains are formed by the older alluvium.

(a) Bhabar (b) Tarai (c) Bhangar (d) Khadar

[ Hplys / Turn over
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10.

11.

12.

&L -85 yhredlsnonss Casmear LudrmgLb.
(=) pwim (<) @bglwim (Q) pafssr (/) pagum
Bajra is an indigenous crop of

(a) Asia (b) India (c) Africa (d) Russia

Epsaranbd ahs elulemr ojglivumLuled Guurs s Hd Cpmssy
Blenaullenar iMlefsdmmi ?

() g9 fey 352 (<) el 49fley 360

(@) slrlfley 356 (/F) gL 96y 365

Under which Article the President is vested with the power to proclaim Financial
Emergency ?

(a) Article 352 (b) Article 360
(c) Article 356 (d) Article 365

Yeraumeuareipanms sreoauflasiiu®isd $Cp QarhissiiulHdrer GONui® -
sefledlmpg Fhwner ellenLemws CambolsHEsea|w.

(i) uvEpssld

(ii) Semmeiler ojam GeugliLE Cangeaner

(iii) 20 Y eET(HSHET RLILIBSLD

(iv) @ndlumeier psed am CeugliLjg Camgeanenr

(1) (i), (i), (iv), (i)

(=) (), (i), (ii), (iv)

(&) @), @), (v), (i)

(FF) (), (iti), (i), (iv)

Arrange the following in the correct chronological order and choose the correct
answer from the code given below.

(i Panchasheel

(ii) China’s Nuclear test

(iii) Twenty year Treaty

(iv) First Nuclear test of India
(a) (1), (1), (iv), (i)

(b) (), (1), (1), [iv)

() (@), (1), @v), (i)

(d) (@), (1), (i), (iv)



5 6836

13. @ndwraler Camammuigre 2 awre] sraiu 2 HusSSule sarailamne| Cum
Ul UGS
(=1) Bools yrlél (<) Qeuetanariy LyL&)
(@) usemwls Lyl él (FF) &mbue Yrld

revolution was born in India paving way for self-sufficiency in food
grains production.

(a) Blue Revolution (b) White Revolution

(c) Green Revolution (d) Grey Revolution

14. Yemeumeuameupmier Camed CsTHHFTMOSHET QOIS 6TFl ?

(=) prewfluCuenL (=) syl

(@) <ylbLyfT (FF) eumemtlwbLImg
Which one of the following is not having leather factories ?
(a) Ranipet (b) Dharmapuri

(c) Ambur (d) Vaniyambadi

u@&3 - 11 / PART - II

GSOILLY : sTemeuCuienid 10 alarmssErsE o weallgsen. elearm oar 28 -&@
sLLmuwng alenLweflédseaLd. 10x2=20

Note : Answer any 10 questions. Question No. 28 is compulsory.
15. adlor Uymoail wasefler <y granel ereusumm QuDHDTT ?

How did Hitler get the support from the people of Germany ?

16. wpCaradlafuder Crmwomyfl Crrédlu ewtl au@liber ellenera|ser wmane ?

What was the result of Musolini’s march to Rome ?

17. @Qurwelnhs seurdsafler Sidmassnger GNsds GHLL cumys.

Write a note on reforms of Ramalinga Adigal.

[ Hplys / Turn over
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18.

19.

20.

21.

22.

23.

24.

25.

26.

0&ECaT UILBSSI e (PESL DbahisemeT CFT@EHSS GUPBISELD.

Summarise the essence of Lucknow Pact.

LGB G CurT (eop GNdg brsd <iblbs@serear ?

What do you know of Trench Warfare ?

Cuilim @umu Crire] — euaprwmIsSea|LD.

Define : Disaster Risk Reduction.

LeetT_(h eUamllHD — GUaNFLIMISSELD.

Define “International trade”.

CamubLSGIT erem SLONPBITL g6 ‘rerblgev eTar Sepssiiu(hiSng ?

Why is Coimbatore called the Manchester of Tamil Nadu ?

@umnens erileumuy ereTmmed crees ?

What is natural gas ?

Ceuliu Gevwey 6l4lgLD crarmmed crevedr ?

What is meant by normal lapse rate ?

@pdwrelern Qb wmAser wreme ?

What are the classical languages in India ?

Gfl&en (BRICS) o miiyy prhseafier Cuwrsemers @ollkhs.

Mention the member countries of BRICS.
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27. Qwrgg o eTHTL(h 2 HUSSH eTemmmed cTemen ?

What is meant by Gross Domestic Product ?

28. dlidlg el el (pepp eremmmed cTevmen ?

What is Proportionate tax ?

L& - III / PART - III

SO : sTemeuCuienid 10 alarmssErsE ol wellssen. elarm oaar 42 -&@
SL_Lmuwns 6len_wel&sa|b. 10x5=50

Note : Answer any 10 questions. Question No. 42 is compulsory.

29. Gamgql L QL misamer HlFliL|s.

(i) LrQererung Gumile CuflplisEnsE o eTermeng).

(ii) &TSSENT et < Hmer GmECs sLL Lt (heTerg.

(iii) SLOIPBTLiq 6 THle e96unkiE <,@LD.

(iv) @nbslu rflueenoliLy SATEFMBRIGSMS ULBIGEMG).

v b yarigew Csiw o ame urgsTiys LD @ BHSw

BILM@RLETDSSTe HleanmCeummiilLg).
Fill in the blanks.
(i) In the battle of Tannenberg, suffered heavy losses.

(ii) Sathanur dam is constructed across the river

(1ii) is the Tamil Nadu state animal.

(iv) The Constitution of India envisages a government.

(v) In the year , National Food Security Act was passed by the Indian
Parliament.

30. GrawrLmbd 2 sl Curfler alleetaisamer < uiiey GFlis.

Analyse the effects of World War II.

31. Gaugmiléy 1806 -6 Qeulgss LT slufler gmmisener alleTd@s.

Account for the outbreak of Vellore Revolt in 1806.

[ Hplys / Turn over
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32.

33.

34.

35.

36.

37.

38.

(=) Caumu(h581s.
i) Cuwng OsriFs wereser wOHMID Fp&E CFTLTES waeser
(i) 2 Cersbd wHmD Cors SHeflwhiger
(<) STTETD FnMmIs.
Fips@ Csmissl weeser QgrrEflunmn sreriiu(BSng.
(a) Distinguish between :
(1) Western Ghats and Eastern Ghats.

(ii) Metallic and Non metallic minerals

(b) Give reasons for the following :

Eastern Ghats are not a continuous range.

s wmiliy Qusssdle slpnr®h eudlss unidlamen aleufléseab.

Describe the role of Tamil Nadu in the Civil Disobedience Movement.

QzaCunE LUmeus stHmn GNSH (PSS

Write about south west monsoon.

@Sl e eumsseT Caand Bhdlameans @GO, LewTewtlen LT ST wHmiD
uree upml edleuf&geyLd.

State any five types of soil in India and explain the characteristics and distribution

of soil.

@ndwreler srevasamer cuanslIL(HSS 6leTdH@s.

Classify and explain the roadways in India.

@Sl srflweewliber ApliLs samsmer cdleTs@s.

Explain the salient features of the Constitution of India.

@nsw 9rsn Senwssfler Lanflaer wHmb ST wramel ?

What are the duties and functions of Prime Minister of India ?
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39. Gumg NGNS Wenmerw edleul&seib.

Elaborate on the Public Distribution System.

40. MNC auaméSlGsner sryenmisaneT elleufléseali.

Explain the reason for the growth of MNC.

@MY : uTfeelwHD Wwrareuiser sTsCETH LHHID aumruLGSHe WapGw
Blaspajsamerd @Lmigmerud GHUELH sT(heusn@ udleors jeuhemLl
uholw GOlLyseT Ll Hib er(ps GeuamT(HLb.

Note : Blind candidates have to write only notes for the questions related to Timeline
chart and map.

41. SpssramuaTeuDdNG@G ST&ECHT(H cumys.

1910 s 1930 auempulleomen yar(Hsl @ o Ul L &Sl b Hlspeisamer
STO&ECHTLIg.6) 6T(LPGIS.

Draw a Timeline for the following :

Write any five important events between 1910 and 1930.

42. 2 @5 aumrUL S Weareumd @)L Bismer GMli&se, L.
i) SHCrl AN e
(i) dymerev
(iii) ©)&smedl
(iv) Gegoefl
v) GorrrsGasm
Mark the following places on the map of world.
(i) Great Britain
(ii)) France
(iii) Italy
(iv) Germany

(v) Morocco

[ Hplys / Turn over
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U@ - IV / PART - IV
@iy : Gereusb elamésersd@ elanwefldsab. 2x8=16
Note : Answer the following questions.
43. (=) Suspu SLyflsdar upd eleuflGseyb.
S|6V6VG)
(<=,) 1857 QumrssDd CaraelliuemL L STTERTHRISEET pTTis.

(a) Explain the Peninsular plateaus.
OR

(b) Discuss the causes for failure of Revolt of 1857.

@D @ UmfepelwHDn WIewTeUTEeT euenpLL. QST L cHNaTTEEEhs@ @G0lLILgeT
WL (HLD eT(LPSELD.
Note : Blind candidates have to write only notes for the questions related to map.
44. (o) Qarhssuul(Herer @bHw cuenruLSHer EPSETEmID Q)L BIGMETE G H&EH6]LD.
i) <Teuda
(ii) BTG
(iii) s&smewt Sy
(iv) uweretm 2 WIrCasmer GluLl L &b
(V) &M LTeneveUeTD
(vi) Cm@ COsrLr&sl weneser
(vil) wmrSl
(viii) sfawen LGS e
S|6060F)
(=) QarhssiiulBdarar sWOPHETH umTULGSH® SPEsTaD Q)L hismers
G&M&ESHLD.
(i) umemm
(i) CeuLpgTmhise
(iii) &m4 edlenemuyd LGS
(iv) e CQuilwum jenewr
(v) uwl@® dsmfle penLGumib @L b
(Vi) eTewTE@mNT
(vii) edlrer Bleneowid (FCHeILDd cpaTm))
(viii) @Bt QLmBIsSL6b



(a)

(b)

11

Mark the following places on the given outline map of India.

(1)
(i)
(111)
(iv)
v)
(vi)

(vii)

Aravalli

Narmada

Deccan plateau

Panna Biosphere Reserve
Thar desert

Western Ghats

Paradeep

(viii) Black soil region (1)

Mark the following places on the given outline map of Tamil Nadu.

(1)
(i)
(111)
(iv)
v)
(vi)

(vii)

OR

River Palar
Vedanthangal
Coffee growing area
Mullai Periyar dam
Silk industry region
Ennore

Airport (Any one)

(viii) Indian Ocean

-00o0-
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